AE=

=t

A= Def| B2}
HZAH
A=H((cem
Y| =+2 (cm) 50x30x10 AHAF opt
(ZHXMIEXEO)
22 =028 =7 AE2IE SsiM ol LHE FIst] 0[0F7|st Stitel x|
YES 2dsl 7heAM Lol Ma|Hel by s Hohs ayol WL
ASLE | d211 o) 252 Saf Ao SYEN FAYS LYAHA A ol S0iUes
719k 0I5 OO 2t RES LAUSIES otFECh Fot sU2R EE30E
Eai
=20 =
T T
174 600,000 =0 ey Alo]4 2l Its
e B3t H e
1007
(F7tM BE) |, | A600,0008 | 15 OlLf | HE H | EEZY 2= 2% Jts
= ESRE o0y 171
=2 o
ZH 1] E0|ArEt
opy | 600,000 | SO|Ag

FA | HHEHAl M7 AE2326%Z 49(Z0ts, OHd OtEYE BS101%)

o2ty | 010. 3705. 8295




